Math 2153, Quiz #1, Summer 2015 Name KE \(

Instructions: Show all work. Give exact answers (yes, that means fractions, square roots and
exponentials, and not decimals) unless specifically directed to give a decimal answer. This will require

some operations to be done by hand even if not specifically directed to. Be sure to complete all parts of
each question.

1. Plot the points (2,1,6) and (-3,1,-4) on the attached graph.
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2. Find a unit vector c;rthogonal to <-8,-6,4> and <10,-12,-2>.
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3. Use the vector you find in #2 to find an equation of the plain that is parallel to both vectors and
contains the points (1,-3, 5).
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